HoZ ol & A e A A
20081 C =0lAF 2BHE| Y
eI EE!
RN E=IIES
ol ol=Y| =X (Ehol: 8 a)
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
SR 524,027, 966 392, 720,913 131,307, 053
o= EA 207,509, 042 76,399, 313 131,109, 729
colsx =3 207, 485, 042 76,381,313 131,103, 729
ColUNte MEeR 29 18, 000 18, 000 0
307 RI2H0IH 18, 000 18, 000 0
02 PINANBE 18,000 18,000 0
OwQUXtel HEURY 29 = 18,000
(= 9, 000]
(= 9, 000]
OISO SME 2 277,500 283, 250 A5, 750
307 RI2+0I & 277,500 283, 250 A5, 750
02 PINANBE 277,500 283, 250 A5, 750
O QIS HE 2 = 277,500
[= 83, 250]
= 194, 250]
ANLII2E(CO A He 30, 000 30, 000 0
307 212401 30,000 30,000 0
02 PINANBE 30,000 30,000 0
OANLIOIZ2-(CO A Hee = 30,000
[= 15, 000]
= 15, 000]
ColgRtel erEsl A 123,538 123,538 0
307 2I2+0IH 123, 538 123, 533 0
04 PIANBASE 123,538 123,538 0
OwQluXtel eatsl Iz = 123,538
[= 61, 769]
= 61, 769]
plETRT 146, 080, 000 0 146, 080, 000
308 XtXIEHHI S 01 & 146, 080, 000 0 146, 080, 000
0 RXSHALRES 146, 080, 000 0 146, 080, 000
Oz = 146, 080, 000
[=2 138,500, 000]




A S E A
M L OI=SX A
CHeLole x| =X (cHel: el
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
= 7,580, 000]
Hza dXielArey X 7,809,015 7,800, 000 9,015
308 AXIHMS0IH 7,809,015 7,800, 000 9,015
01 RXSMBIAESEZ 7,809,015 7, 800, 000 9,015
Okl X2l XI&(8,015%)
12,013, 869, 000& *65% = 7,809, 015
(= 6, 006, 935]
= 1,802, 080]
SAHLQ0 &0 ItA 3,179,024 8, 312,500 A5, 133, 476
308 AXHMSOIH 3,179,024 8, 312,500 Ab, 133, 476
01 AXNHHBAEEZ 3,179,024 8, 312, 500 A5,133, 476
OSHLEQ S2201 IHaA(443Y)
3, 740, 028, 000& *85% = 3,179, 024
(=2 2,618, 020]
== 561, 004]
Fo0Pl= Ols=A& 29 15, 000 30, 000 A 15,000
308 KX HHMSOIA 15, 000 30, 000 A 15,000
01 XXHMBAEEZ 15, 000 30, 000 A 15,000
OF0otiteE olssX2 2G(1HA)
30, 000, 000& *50% = 15, 000
(=2 15, 000]
LoIE20l K& 3,342,344 3,297,159 45,185
308 AXHHMSOIA 3, 342, 344 3,297,159 45,185
01 AXNHHBAEXES 3,342,344 3,297,159 45,185
OLo=20] X& = 3,342,344
(=2 2,784, 5371
= 557, 807]
COIMEAIE AHIYA 0125 XA 1,825,593 1, 455, 000 370, 593
308 AXHMSOIH 1,825,593 1, 455, 000 370, 593
01 AXNHHBAEEZ 1,825,593 1,455, 000 370, 593
OLOCIMEAL AHIYA 018Z XA (39%6Y)
2,607, 990, 000& *70% = 1,825,593
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A S E A
M L OI=SX A
CHeLole x| =X (cHel: el
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
[= 1, 825, 593]
LowsEsg X2 2,500, 000 6, 300, 000 A 3,800, 000
308 AXIHMS0IH 2, 500, 000 6, 300, 000 A3, 800, 000
01 RXSMBIAESEZ 2, 500, 000 6, 300, 000 A3, 800, 000
OkLous+g X = 2,500, 000
COIMEIANAL JIsEZAS 13, 314, 645 10,959, 117 2, 355,528
403 XXM S K201 ™ 13, 314, 645 10,959, 117 2, 355,528
01 XXHHA=2EX 13, 314, 645 10, 959, 117 2, 355, 528
OLOCIMEAISE JISEZAY 17,752, 860, 000x75% = 13, 314, 645
(= 8, 876, 430]
= 4,438, 215]
MOt CI=XIAE JIsE22 2,585,000 2,533, 311 1, 689
403 XXM S K201 ™ 2, 535, 000 2,533, 311 1,689
01 XXHHA=2EX 2,535,000 2,533, 311 1,689
OMNEISsXAIE JIsE2Z 3,380,000, 000&*75% = 2,585,000
(= 1, 690, 000]
= 845, 000]
HIEFHIPLALS 8, 084, 229 11,394, 574 A 3,310, 345
403 XIS MS K201 A 8, 084, 229 11,394, 574 A3, 310, 345
01 XXHXNA=2EX 8, 084, 229 11,394, 574 A 3,310, 345
OHEUAFE DALMY = 4,593, 537
[= 3, 130, 000]
= 1, 463, 537]
Ogal =2 Mg 2, 106, 696, 000& *85% = 1,790, 692
[= 1,474, 688]
= 316, 004]
onlagsg ds 2, 000, 000, 000& *85% = 1, 700, 000
[= 1, 400, 000]
= 300, 000]
Cietcolsl 28 L ALK 47,000 27, 000 20, 000
307 2I2t0| & 47,000 27,000 20, 000
02 QIZHBAME X 11, 000 11, 000 0




A S E A
M L OI=SX A
CHeLole x| =X (cHel: el
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
OUstcolsl TAHEZ AtRA 29 = 11, 000
04 CIZFSHALE = 36, 000 16, 000 20, 000
OLelSEMNIE & AZBEUE = 13, 000
OLQXER HeUWE = 13, 000
OLQAXNEX #IAS = 10, 000
d2Y T2 22At 22F 21,340 21,262 78
307 2I2t0| A 21,340 21,262 78
02 QIZHAAMNSE =X 21,340 21,262 78
OZ2Y T2 )& AL AN 2 = 21,340
SQIBHAL ANz 2 XA 30, 000 30, 000 0
307 2I2tol A 30, 000 30, 000 0
02 QUAFAEX 10, 000 30, 000 A 20,000
Ot SAIE S 3 M0 &It = 10, 000
04 CIZFSHALE = 20, 000 0 20, 000
OLQMEAIE 248 L SALA &0tY 3l = 20, 000
SOI0ISAIE SAL HRMA XA 64, 800 56, 232 8, 568
308 KX HHMSOIA 64, 800 56, 232 8, 568
01 XXHMBAEEZ 64, 800 56, 232 8, 568
OLCl0ISAIEEAR HRIHE XA (250Y)
324, 000, 000& *20% = 64, 800
LOIMEAE SAML HRMA X2 218, 400 210, 360 8, 040
308 X HHMSOIH 218, 400 210, 360 8, 040
01 RXSMBIAESEZ 218, 400 210, 360 8, 040
OLQMEAIESAIAL MRS XA (600H)
1,092, 000, 0002 *20% = 218, 400
LOIMEAlL 23] X2 11, 309, 000 12, 850, 399 A1,541,399
308 XAXHHMSOIA 11, 309, 000 12, 850, 399 A1,541,399
01 XXHMBAEXEZ 11, 309, 000 12, 850, 399 A1,541, 399
OLQIMEAIE 29 KIJ(332) = 11, 309, 000
= 8, 736, 000]
== 2,573, 000]




A S E A
M L OI=SX A
crolLol=x =& (cHel: el
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
Mot-el=XAld 228 XI& 859, 500 925, 974 ABB, 474
308 XAXHHMSOIA 859, 500 925, 974 ABB, 474
01 XXHMBAEXEFZ 859, 500 925, 974 ABB, 474
OMItC-QI=SXAIE 228 XIJ(44004)
2, 865, 000, 000& *30% = 859, 500
22Y 23dl N& 2,269, 000 6, 344, 000 A4,075, 000
308 AXHHMSOIH 2, 269, 000 6, 344, 000 A4, 075, 000
01 AXNHHBAEEZ 2, 269, 000 6, 344, 000 A 4,075,000
OLQXNE X &4 = 25, 000
Oodzd XL = 385, 500
ORYZ=Z2Y QlMEE XA = 30, 000
O32Y 2Z4l X& 1,380, 000& *5, 30074 2 +25% = 1, 828, 500
PEIZANY 2I X 459, 000 1, 836, 000 A1,377, 000
308 AXHHMSOIA 459, 000 1, 836, 000 21,377,000
01 XXHMBAEEFZ 459, 000 1, 836, 000 A1,377, 000
ORsd=z2AY 29XA(2,0409)
1, 836, 000, 000& *25% = 459, 000
Lol HARC 5,044 5,044 0
308 AR HMSOIH 5,044 5,044 0
01 AUXNHHBANEXZ 5,044 5, 044 0
OLAURH(877H) 33, 622, 000& *15% = 5,044
MNASTHII- O MANE 361, 350 328, 500 32, 850
308 AXHHMSOIA 361, 350 328, 500 32, 850
01 AXNHHBAEXES 361, 350 328, 500 32, 850
OMASMIt =l AAHEIE(1, 752Y)
1, 445, 400, 000& *25% = 361, 350
Lo =gz 28 K& 590, 000 600, 000 A 10,000
308 AXIHMS0IH 590, 000 600, 000 A 10,000
01 XXSMBIAESEZ 590, 000 600, 000 A 10,000
OkLo=Xs2 28 K& 2, 950, 000, 000& *20% = 590, 000




A S E A
M L OI=SX A
crolLol=x =& (cHel: el
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
d2Y 43 Ze)H 23 180, 000 320, 000 A 140, 000
308 XAXHHMSOIA 180, 000 320, 000 A 140, 000
01 XXHMBAEXEFZ 180, 000 320, 000 A 140,000
OZ2Y gdst T2 25
56, 250, 000& *16Al T *20% = 180, 000
ZA2Y = XA 1, 636, 000 0 1, 636, 000
308 AXHHMSOIH 580, 000 0 580, 000
01 XXSMBAEEZ 580, 000 0 580, 000
OZZAE Jls22(12H) 1, 160, 000, 000& *50% = 580, 000
403 XXM S K201 A 1, 056, 000 0 1, 056, 000
01 XXHHA=2EX 1, 056, 000 0 1, 056, 000
OZz2g ¢ & 228 3, 520, 000, 000& *30% = 1, 056, 000
d2Y T2 AL A 29 170, 720 170, 093 627
308 AXHHMSOIA 170, 720 170, 093 627
01 XXHMBAEEFZ 170, 720 170, 093 627
OZdsY T 2elAt 29(16Y)
341, 440, 000& *50% = 170,720
Mot el=X S&ALY XI& 120, 000 120, 000 0
308 AR HMSOIH 120, 000 120, 000 0
01 RXSMBIAEEZ 120, 000 120, 000 0
OsHLel erd X2 0l XA 600, 000, 000& *20% = 120, 000
Lolge =& 3AZ 10, 000 0 10, 000
202 04l 10, 000 0 10, 000
01 =LHHYI 10, 000 0 10, 000
OLogse =& = 10, 000
HEADHS HHFA 24, 000 18, 000 6, 000
MEedtnds 22= M 8, 000 8, 000 0
201 ZEt2F| 8, 000 8, 000 0
01 AtR2teldl 8, 000 8, 000 0
OMsttsE2= MZ = 8, 000
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2AN:

=73
B Zojol ZXSH
S DOHI=X B (e &3
SN EB.O(EN) - NPEAY - BES Ol &t Shitr bl D= 2
= 60, 676]
=& X 21, 888, 588 25, 684, 696 A 3,796,108
308 X HMSOIN 21, 888, 588 25, 684, 696 A 3,796, 108
01 RXSMBIAESEZ 21, 888, 588 25, 684, 696 A 3,796, 108
OMIPIZ=SEL!
130, 000& %10, 533 x 121 & x85% = 13, 966, 758
(= 11, 502, 036]
(& 2,464, 722]
OMItXt&e SSE0
120, 000& %1, 820 » 1201 & *85% = 2,227,680
(=2 1, 834, 560]
= 393, 120]
OMIt ZSE0C 30,0002 %12, 195F * 1204 & x85% = 3,731,670
(=2 3,073, 140]
(& 658, 530]
OANESSEMHL 70, 0002 *2, 624Y 1204 & x85% = 1,873, 536
(=2 1,542,912]
(& 330, 624]
(OZNE=F=R=pSy(/ ol 20, 0002 #436H 1201 & x85% = 88, 944
=2 74,648]
(& 14, 296]
ZoHel 2=l K& 697, 883 815, 000 A117,117
308 AXIHHS0IA 697, 883 815, 000 A7,117
01 AXNHHBAEXES 697, 883 815, 000 AN17,117
O&oele =zl 775, 425, 000& *90% = 697, 883
(=2 620, 340]
(&= 77, 543]
Ziots 2L=< XN 1, 761, 540 2,109, 385 A 347,845
308 AXHMSOIH 1,761,540 2,109, 385 A 347,845
01 AXNHHBAEEZ 1,761,540 2,109, 385 A 347,845
OZ0otsRL=E 2,072, 400, 000& *85% = 1,761, 540
(=2 1, 450, 680]




S HOHI=X A (e &3
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
= 310, 860]
ZOoHel Atdn=sdl K& 90, 405 102, 316 A11,911
308 AXIHMS0IH 90, 405 102, 316 A11,911
01 RXSMBIAESEZ 90, 405 102, 316 A11,911
OZO0H X4 = b 100, 450, 000& *90% = 90, 405
[= 80, 360]
== 10, 045]
ool 2RI XA 61, 650 85, 300 A 23,650
308 XX HMSOIA 61, 650 85, 300 A 23,650
01 RXSMIAESEZ 61, 650 85, 300 A 23,650
OZfel THEEZI|7 23 XAA(654H)
68, 500, 000& *90% = 61, 650
(= 54, 800]
= 6, 850]
Zoel SE&EH K& 5,090 6,310 A1, 220
308 X HHMSOIH 5,090 6,310 A1, 220
01 RXXSMBIAESEZ 5,090 6,310 21,220
OIS EACHHI(552Y) 10, 180, 000& *50% = 5,090
[= 5, 090]
ESTOTEME(IVXJALH 22 96, 000 96, 000 0
308 X HAMSOIA 96, 000 96, 000 0
01 AXSHHBNEXEF 96, 000 96, 000 0
O=SHMHC TEHMEXACH 29
150, 000, 000 *64% = 96, 000
[= 60, 000]
= 36, 000]
IR EXANY 2 3, 387, 964 4,928, 623 A1, 540, 659
308 AXIHMS0IH 3, 387, 964 4,928, 623 A1,540, 659
01 XXSMBIAESEZ 3, 387, 964 4,928, 623 A1, 540, 659
OSSHe 2T MY =X
1, 133, 333, 0002 *30% = 340, 000




A

=ZXE
B Zojol ZXSH
S HOHI=X A (e &3
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
O=SHMe s8N AL
7, 000& *1, 019 x40A| 2+ 12J1 & *85% = 2,910, 264
(= 2, 430, 926]
= 479, 338]
OFMA=SKAIE AHILA0ESE KA
270, 000 x50H » 1200 & +85% = 137,700
(= 118, 400]
= 24, 300]
ZOoHel LXelAted X 722,271 869, 318 AN147,047
308 AXHMSOIH 722,271 869, 318 AN147,047
01 AXNHHBAEEZ 722, 271 869, 318 AN147,047
O feI=RI LAl At 201, 612, 0002 *83. 5% = 168, 347
(= 135, 080]
= 33, 267]
OFH HHEE=ROIALY 663, 381, 0002 *83. 5% = 553, 924
(= 444, 465]
= 109, 459]
HZOCIMEAE JIsES XA 3, 283,490 3, 328, 800 A 45,310
403 XIS MS K201 A 3, 283,490 3, 328, 800 A45,310
01 XXHXNA=2EX 3, 283, 490 3, 328, 800 A 45,310
Ol MEAILI|Is B2 234,535 000&+1424 = 3,283,490
[= 1,641, 745]
= 1,641, 745]
O EHTHEAN LI ISEZ K& 860, 470 809, 396 51,074
403 X SMS K201 & 860, 470 809, 396 51,074
01 XXHXNA=2EEX 860, 470 809, 396 51,074
OZOMAEHTHEAIL JISEZ 172,094, 000& 54 = 860, 470
[= 430, 235]
== 430, 235]
SHEHHQ F=EIHAE X 393, 000 285, 000 108, 000
403 X SMS K201 & 393, 000 285, 000 108, 000
01 XXHMA2EE 393, 000 285, 000 108, 000
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S HOHI=X A (e &3
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
O=sHEZ0Q FSIHEZAY
4,000, 000& 1310t 2+ 75% = 393, 000
(= 262, 000]
= 131, 000]
O ZTHEAN L JIsSEZXE 18, 700 120, 800 A 102,100
402 2I2H X201 18, 700 0 18, 700
01 QUAXEBEX 18, 700 0 18, 700
OZL A= THEAE JIs2S = 18, 700
[= 5, 610]
= 13, 090]
SIS ET )2 29 60, 000 60, 000 0
307 2I2t0| & 60, 000 60, 000 0
02 QI2ZtFAMNEX 60, 000 60, 000 0
Oss&e 2L WsI|la 24
20, 000, 000& *3H A& = 60, 000
(= 42, 000]
= 18, 000]
HZofer=X2 29 2, 336, 000 1,770,131 565, 869
307 2I2t01 A 2, 336, 000 1,770,131 565, 869
02 QIZtAAMNE =X 25, 000 25, 000 0
Q=X SAL Exu=s = 25,000
[2 10, 000]
= 15, 000]
05 QIZtE3 2,311,000 1,745,131 565, 869
QeI =Xz 23 = 2, 060, 000
[2 924, 000]
= 1, 136, 000]
Qe =X 222F = 251, 000
Zoexsa 24 75, 352 67,752 7,600
307 2I2tol A 75, 352 67, 752 7,600
02 gt AE=X 75, 352 67,752 7, 600
OFMHeId=s22Z 94, 190, 000& *80% = 75, 352
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2 OIS X & (S MR
SH-BH-SA(BH) - MBAY - BLS 0f) &+ o Shitr HDS2
[= 24, 000]
== 51, 352]
JOHAULAZHEAIE 2 213,900 207, 900 6, 000
307 g@lz2tol & 213,900 207, 900 6, 000
02 wx3Hd=Ex 213,900 207,900 6, 000
OZMAYSTHEAIE =2 267, 375, 0002 *80% = 213,900
== 72, 000]
(= 141, 900]
Sl 24 95, 000 85, 600 9, 400
307 gIz2tol & 95, 000 0 95, 000
02 Q23Hd=Ex 95, 000 0 95, 000
O=3SSHHEZ = 95, 000
= 23, 000]
[& 72, 000]
ol §F2EHH 24 152,114 135, 548 16, 566
307 2I2told 162,114 135, 548 16, 566
02 Q3= x 182, 114 135, 548 16, 566
O 4=84H 29 = 152,114
[= 36, 000]
== 116, 114]
HOANEEXANUFAE 2E 55, 000 52, 892 2,108
307 2I2told 55, 000 52, 892 2,108
02 Q23d=Ex 55, 000 52,892 2,108
OHGAMNELETNANUFAIHZY = 55, 000
[= 25, 000]
(& 30, 000]
KA ZOHQ BHOAANLXALE 2 99, 750 87,750 12,000
307 @120l & 99, 750 87,750 12,000
02 Q2a3d=Ex 99, 750 87,750 12,000
OXNHMEOHAEAALXHME =2 = 99, 750
(= 24, 000]
== 75, 750]
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0 Ol
L A

H-22-e2i(8) - NRAY - BaS 0f) &+ o Shitr HDS2
CEe JOHAAE SAA MLIHEHI 174, 960 167, 760 7,200
307 glz2tol & 174, 960 167, 760 7,200
02 YUAIHd=Ex 48, 600 45, 360 3, 240
OHOMHAMEAI LS AR LIS 48, 600
3= 0] 2t 90, 0002 x5 x128 = 5,400
-3-5& 0/ &t 120, 0003 10E* 128 = 14, 400
-5 0] & 150, 0002 16128 = 28, 800
05 2IAE= 126, 360 122,400 3,960
O OHAXNSA2 HE AL S AR X L4 126, 360
-3 0/¢t 90, 000& *x13Fx12& = 14, 040
-3~5= 0|8t 120, 000 23 x12& = 33,120
58 0l &t 150, 000& »44H 128 = 79,200
2o Q= At 88, 000 80, 000 8,000
307 glztol & 88, 000 80, 000 8, 000
02 YULIH=Ex 88, 000 80, 000 8,000
OAtgtel 2l At 8,000, 000& 11 = 88, 000
Hel 2tMegs =4 226, 000 425, 020 2199, 020
307 @lz2t0l & 226, 000 425, 020 A199, 020
02 IAHBFAEE 226, 000 425, 020 A199, 020
O Eetaged 29 = 64, 000
OHL AHHASAHSKE = 20, 000
OZOHASHM MHE A 12,500, 0003 40 & = 50, 000
OAIZZMHLE =AM 2 2L 6, 000, 000& 128 = 72,000
OHYANE dRNSEUF = 10, 000
OAIZZ R EctAMEHRZH = 10, 000
ZOHQIHAL THRIOHEl & XI& 193, 000 176, 000 17,000
307 glztol & 193, 000 176, 000 17,000
02 ULBHY=EX 25,000 25,000 0
Osd&ie sXNsds 29 = 20, 000
OAIZ ol B &It = 5,000
04 QIZHHUALE X 168, 000 151, 000 17,000
Ol gA 29 = 30, 000
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S HOHI=X A (e &3
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
A ZOC JIAIER0IAtY XI& 76, 000 73,500 2,500

307 2I2tol A 76, 000 73, 500 2,500
05 QIZtREZ 76, 000 73,500 2, 500
O EOC! JIAER0IAMY = 76, 000
= 29, 000]
== 47,000]
Zoe SEE2EAME 29 72,000 68, 120 3,880
307 2I2tol A 72,000 68, 120 3, 880
05 QIZtRIEZ 72,000 68, 120 3, 880
Q&R SEE23AME 29Y = 72,000
(2 31, 000]
== 41, 000]
ZOoHel SelXZ At K& 54, 586 42, 696 11,890
307 2I2tol A 54, 586 42, 696 11,890
05 BQIZtREZ 54, 586 42, 696 11,890
OF=X2 Selx2A XA = 54, 586
Zoe A 2Y 57,000 26, 481 30, 519
307 2I2t0| & 57,000 26, 481 30, 519
02 QI2ZHAAMEX 35, 000 5,000 30, 000
OF nsaEa 249 = 30, 000
OdRSHH 1577842 E St = 5, 000
05 QIZtREZ 22,000 21, 481 519
OFe AddNs 2F = 22,000
ZOHOIAIE S ALAL ™SIl 394, 140 385, 620 8, 520
308 AXIHMS0IH 394, 140 385, 620 8, 520
01 RXSMBIAESEZ 394, 140 385, 620 8, 520
OAZHOCIOIZAE SAX MRS 83, 992
-340| 8t 90, 000& *100H *12& x20% = 21,600
-3~540]| 2t 120, 0002 *89F » 12& *20% = 25, 632
53 0| & 150, 0002 * 1169128 *20% = 41,760
OANZ ZOHIEHTHEAIL SAL HRHA 20, 196
-340|2t 90, 000R *4ZH x12& x30% = 1,296

_15_



S HOHI=X A (e &3
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
-3~540]| 2t 120, 0002 *10B *12& *30% = 4,320
SE0 & 150, 000R& *27 B * 128 *30% = 14, 580
OAlZ HOHQ!I MEAE SALA A 284, 952
=34 0|2t 100, 000 *71 B *12& *20% = 17, 040
-3~540]| 8t 150, 000 *251H*12& x20% = 90, 360
-S54 0] & 180, 000& *411H 128 *20% = 177,552
SO MEAL 2F 15, 532, 595 14, 532, 595 1, 000, 000
308 KAXHHMSOIA 15, 532, 595 14, 532, 595 1, 000, 000
01 XXHMBLAEEZ 15, 532, 595 14, 532, 595 1, 000, 000
OQZOe MEAd 2F = 15, 532, 595
(2 11, 780, 000]
== 3, 752, 595]
O AATHEANE 2 140, 910 128, 100 12,810
308 AXHHMSOIA 140, 910 128, 100 12,810
01 XXHMBAEEFZ 140, 910 128, 100 12,810
OFR HNATHEANE 2 939, 400, 000& *15% = 140, 910
ZoHots A= XA 69, 300 70, 000 AT700
308 XAXHMSOIA 69, 300 70, 000 AT00
01 RXSMIAEEZ 69, 300 70, 000 AT00
OFELTMOIs ABEHOIZ == L MHEXZHI
11, 000, 000 *21H *30% = 69, 300
0ol MEory XI& 1, 862, 100 1, 851, 000 11,100
308 AXHHMSOIA 1,862,100 1,851,000 11,100
01 AXNHHBAEXES 1,862, 100 1,851, 000 11,100
O FIAE 12,0002 %12, 000E *12& *30% = 518, 400
OR2HM=E X2 35 0002 *3, 500Al CH*123 *30% = 441, 000
OEMH=Z0e! =HHl XA
35, 000& *2, 0002t 2+ 128 *30% = 252, 000
OOl A2TE X
3, 000& x5, 5000t P+ 128 *30% = 59, 400
Q& JIANER0| 25 XIH
25, 000 *150H 20 * 128 *30% = 270,000
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~
04 0|
Pl

H-38.c9(3H) - HEAY - BES & o Shitr BlRE2
O=SZelIt= gsdl XA
126, 000& *8, 5000+ 7 *30% = 321, 300
S3EMMeIESskY K& 61,776 56, 160 5,616
308 AXIHHSOIA 61,776 56, 160 5,616
01 XXNEHBLELS 61,776 56, 160 5,616
OSSHMC ESkY 40, 0003 x429H «12& x30% = 61,776
Zofel XJAME 2 729, 000 729, 000 0
308 AXIHH S0 729, 000 585, 000 144, 000
01 AXNHHBAEXS 729, 000 585, 000 144, 000
OAlZ =sts94H 2F
75, 000, 0003 * 1391 £ *30% = 292, 500
OANZ HUHYESHH 2
75,000, 000& * 1374 22 *30% = 292, 500
OANZXN MO HOJAlL KJAMEH 2
30, 000, 000& * 1691 2 *30% = 144, 000
ANZEOHel THEaASHl XI& 369, 000 144, 000 225, 000
308 AXIHHS0IA 369, 000 144, 000 225,000
01 AXNHHBAEXS 369, 000 144, 000 225, 000
OAlZZEO0HC! §3l AFRAAXHEINA)
450, 000, 000& *50% = 225,000
OANZZOHITHEAFZ Bl 30, 000, 000& * 161 2~ *30% = 144, 000
2RI =X2 A 1,870, 000 1,600, 000 270, 000
401 Al &HIYL 20| 1,870, 000 1, 600, 000 270, 000
04 Al&HI , 764,000 0 1, 764, 000
OAZEHC SX2 AE = , 764,000
05 22l 77,900 0 77,900
OAIZEOel SX2 Hg 2eldl = 77,900
06 Al&=0HHI 28, 100 0 28, 100
OAZZEOHel SXI2HE AR = 28,100
OHQITHEAIE JISEH 521, 000 409, 668 111,332
402 QI2H X201 521, 000 409, 668 111,332
01 QIZXEE=X 521, 000 409, 668 111,332
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S AE
HE: 20D ZMEE
SR EMBBE D= 3 N (Erol #@ e
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
I ZHESE 210, 546, 710 214,270, 627 A3,723,917
Jlzdasgd 5 2 XA 210, 546, 710 214,270, 627 A3, 723,917
I =MEBHGH X2 180, 506, 250 180, 506, 250 0
308 AXHMSOIH 180, 506, 250 180, 506, 250 0
01 AUXNHHBANEEZ 180, 506, 250 180, 506, 250 0
OJlz=d8 BEZ0(838Y)
200, 562, 500, 000& *90% = 180, 506, 250
[= 160, 450, 000]
= 20, 056, 250]
212 = X K&l 3, 034, 393 3,787,781 AT753, 388
308 AXHHMSOIA 3, 034, 393 3, 787,781 AT753, 388
01 XXHMBAEEZ 3,034,393 3,787,781 A58, 388
O2Z=XX&Hl X2 3, 371, 547, 000& *90% = 3,034,393
(=2 2,697, 238]
== 337, 155]
22 AL K& 17,642,610 17, 549, 668 92, 942
308 KX HHMSOIA 17,642,610 17, 549, 668 92, 942
01 XXHMBAEEZ 17,642,610 17, 549, 668 92, 942
OXE2Z At (2, 539Y) 19, 602, 900, 000& *90% = 17,642,610
(=2 15, 682, 320]
= 1, 960, 290]
MaLAMSHSEZIHR2HE 60, 660 199, 152 A138, 492
308 AXHHMSOIA 60, 660 199, 152 A 138,492
01 AXNHHBAEXES 60, 660 199, 152 A 138,492
ONE Y AMINSEZZ(1HA)
67, 400, 000& *90% = 60, 660
(=2 53, 920]
== 6, 740]
NEX&dH2Y 2,357,900 2,211,700 146, 200
308 XAXHHMSOIA 2,357,900 2,211,700 146, 200
01 XXHMBAEXEZ 2,357,900 2,211,700 146, 200
OXNGXEHE A (15J0A) 2,774,000, 000& *85% = 2,357,900
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A SIS
HE: 20D ZMEE
SR EMBBE D= 3 N (Erol #@ e
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
[= 1,941, 800]
= 416, 100]
NEASISHAS XA 2,594,003 3,685,414 21,091, 411
308 AXHMSOIH 2,594,003 3,685,414 A1,091, 411
01 AUXNHHBANEEZ 2,594, 003 3,685, 414 21,091, 411
ONEALSSMAIY X2
96, 460& *2, 490 * 128 *90% = 2,594, 003
(=2 2, 305, 786]
= 288, 217]
ZAREHEH2SE 245, 000 0 245, 000
308 AXHHMSOIA 245, 000 0 245, 000
01 XXHMBAEEZ 245, 000 0 245, 000
OZdtady 22 = 245, 000
(=2 245, 000]
SHO=XNAE 2SN 545,919 567,270 A21,351
308 X HHMSOIH 545,919 567,270 A21,351
01 RXXSMBIAESEZ 545,919 567,270 A21, 351
ORHo=XAE 29 = 545,919
[= 382, 143]
= 163, 776]
SHUC=SANALE JIsELXE 225, 000 165, 000 60, 000
403 XHXISHMS 201 A 225, 000 165, 000 60, 000
01 XXHHA=2EX 225, 000 165, 000 60, 000
ORdo=XAd JIs2d XA
300, 000, 000& *75% = 225,000
(=2 150, 000]
(& 75, 000]
IARHPE ELOIALE K& 3, 276, 240 5,551,625 AN2,275, 385
308 AXHMSOIH 3, 276, 240 5,551,625 A2,275, 385
01 RXSMBAEEZ 3, 276, 240 5,551,625 A2,275, 385
OJtAHE E0IAtE XI& 3,854, 400, 000& *85% = 3, 276, 240
[J] 2,698, 080]
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A SIS
HE: 20D ZMEE
SR EMBBE D= 3 N (ol M2
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
== 578, 160]
XSS AALS 1, 656 1, 656 0
308 AXIHMS0IH 1, 656 1, 656 0
01 RXSMBIAESEZ 1, 656 1, 656 0
OXN =S AtAL 16, 560, 000& *10% = 1, 656
L=0EH2Y 15, 951 15, 951 0
308 AXHAMSOIH 15, 951 15, 951 0
01 XXSHMBIABEXZ 15, 951 15, 951 0
Ok=soay 29 N& 159, 510, 000& *10% = 15, 951
KNSR E SALA H LIS 22,536 20, 952 1,584
308 AXHHMSOIA 22, 536 20, 952 1,584
01 XXHMBAEEZ 22,536 20, 952 1,584
OXNSX&HEHSALL HRMAH K& 22,536
-3 0| et 90, 000& *33H 123 x20% = 7,128
-3~54 0|8t 120, 0002 *31H* 128 *20% = 8, 928
-S540l &t 150, 0002 *18H *12& *20% = 6, 480
MEALASAA HSIHSH K& 8,592 8, 208 384
308 XAXHMSOIA 8, 592 8,208 384
01 RXSMIAEEZ 8, 592 8,208 384
(OF3-"INF=E=YNINBPSEP] Falls] 8, 592
-3 0| et 100, 000 * 1 H x 128 *20% = 240
-3~54 0|8t 150, 000 *4H « 128 20% = 1, 440
53 0| & 180, 000 *16Z *12& *20% = 6,912
MESHZX HaHY 10, 000 0 10, 000
202 48l 10, 000 0 10, 000
01 =LHObI 10, 000 0 10, 000
OMESHF=ZX = 10, 000
ots=X3H 14, 508, 906 11,271,789 3,237,117
Otsdd=d 14, 508, 906 11,271,789 3,237,117
FHLL0tsLEES XA 81, 481 54, 336 27,145
308 AXIHMSO0IH 81, 481 54, 336 27,145
01 RXSMIAESEZ 81, 481 54, 336 27,145




2ASAEE
3 0ls=NEN
S OtsSHEFY (S MR
SH-BH-SA(BH) - MBAY - BLS 0f) &+ o Shitr HDS2
O Aots d=2L3 K& 81, 481
P AOtS dEELS
578, 0002 «10& * 122 x85% = 58, 956
[= 48, 552]
== 10, 404]
-2l 24| 2,650, 000& *10& «85% = 22,525
[= 18, 550]
(= 3, 975]
220ts drE2x=s N2 391, 680 132, 600 259, 080
308 X EHHMSOIH 391, 680 132, 600 259, 080
0 RXSHBARES 391, 680 132, 600 259, 080
OYYOE YFREZ X
100, 000 «384E * 12& x85% = 391,680
[= 322, 560]
== 69, 120]
== X2 17,000 13, 600 3,400
308 AAHHMSOIH 17,000 13, 600 3,400
01 MAEHBdEE= 17,000 13, 600 3,400
Ogedrr=z X 2,000, 000& *10& «85% = 17,000
[= 14, 000]
== 3, 000]
NSOtSHE (SRY) 23 X2 2,028,000 1,934, 758 93, 242
308 AHXHHMSOIH 2,028,000 1,934,758 93, 242
01 MAEHBdExL=S 2,028,000 1,934,758 93, 242
OXgotsHE(37Y) 29 X = 2,028, 000
[= 1,512, 000]
== 516, 000]
Ots=XAH X & 2,004,000 933, 300 1,070, 700
308 AHXHHMSOIH 2,004, 000 933, 300 1,070, 700
01 MAEHBdEx= 2,004,000 933, 300 1,070, 700
O0ts=X A X & = 2,004, 000
[= 1,932, 000]
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SN = H )

N
S OtsSHEFY (S MR
SH-BH-SA(BH) - MBAY - BLS 0f) &+ o Shitr HDS2
= 72,000]
NasSsEsY =352 N 162, 000 135, 000 27,000
308 AHXIEHHISOIH 162, 000 135, 000 27,000
01 XMXEH3dEx= 162, 000 135, 000 27,000
ORASEEY +520Y N
1,000, 000 * 18I x 12 75% = 162,000
[= 108, 000]
(= 54, 000]
JSES8HtSEa XA 234, 288 160, 340 73,948
308 X EHHMSOIH 234, 288 160, 340 73,948
01 MAEHIdEx= 234, 288 160, 340 73,948
OJE&EH ots2Es A&
39, 048, 000& * 109 22 %60% = 234, 288
[= 156, 192]
== 78, 096]
otsZa XA X 514,692 172,704 341, 988
308 AAHHMSOIH 514, 692 172,704 341, 988
01 MAEHBdEE= 514,692 172,704 341, 988
OOls¥E NAHE X
30, 000& *1, 682F 128 x85% = 514,692
[= 423, 864]
(& 90, 828]
HEAEHHESE Ot 97,400 88, 700 8, 700
201 Eer=23H| 97,400 88, 700 8, 700
02 ===34Hl 97, 400 88, 700 8,700
OJERE doi2g It = 97, 400
[= 68, 180]
(& 29, 220]
OISSAAE JIsE2d AMEXA 1,268, 376 600, 000 668, 376
403 N XIS HSA=01H 1,268, 376 600, 000 668, 376
01 AXSHMAZE X 1,268, 376 600, 000 668, 376
OOtSSXAIE JIs22 A 1,691,167, 000& *75% = 1,268, 376
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HdeotsHESH (e &3
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2

[= 845, 584]

== 422,792]
Ots=X Z2HEAE 2F 723,028 698, 150 24,878
307 2I2t0| A 723, 028 698, 150 24,878
02 QIZHAAMSE =X 723,028 698, 150 24,878

OZHJ& 294 = 200, 000

(2 80, 000]

= 120, 000]

OJEE XNAAHH 2% = 133, 028

(2 54, 000]

= 79, 028]

O0lsEsd=EJ1& 294 = 390, 000

(2 156, 000]

= 234, 000]
Ots=X AL 4 95, 860 36, 720 59, 140
307 2I2t01 A 38, 160 36, 720 1, 440
02 QIZHABAMNSE X 38, 160 36, 720 1, 440

OO0ts=X 2&EA4E HRIM A 38, 160

- 3402t 90, 000 x5 *12& = 5,400

- 34-~540| et 120, 0003 +9H «12& = 12, 960

- 5480] 4 150, 000& 118 x12& = 19, 800
402 QI2HXHE01H 57,700 0 57,700
01 QUAXEEX 57,700 0 57,700

OZala JIsEd 3, 500

- 3dFH 2l = 3,000

- Tely P2l = 500

O0lsEsdEIN& JIsEd 4,200

- MNEHESHH P2 300, 000&*14Y¥ = 4,200

OOt XS XIJAME Xt = 50, 000
Ots=XAIE XA 1,276, 660 993, 875 282, 785
308 AXIHMSO0IH 1, 276, 660 993, 875 282, 785
01 RXSMIAESEZ 1,276, 660 993, 875 282, 785
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HAOlsSHAEFH (e &3
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
O0ts=XIAE 29 6, 974, 000, 000& *15% = 1, 046, 100
OO0ts=XAIE 224 M4 K& 80, 832
- 340|8t 100, 000& *41H* 128 «20% = 9, 840
- 3@-~54E0| ot 150, 000 *76F *12& *20% = 27, 360
- 540] &t 180, 000 * 101 H*12& x20% = 43,632
O&la0ts MHEEEEHZ XA 1,000, 000& *70H x25% = 17,500
O&la0ts NEF=Z FIt X
2, 000, 000& *70H *30% = 42,000
O&A0ts 2HBHFAS K&
1, 000, 000& »42Y% x50% = 21,000
OAN&0ts A3l S =8l XA 45, 468
- =SSt 10, 000& *349H x 128 *30% = 12, 564
- S5t 20, 0002 x180Y =128 x30% = 12,960
- 0SSt 30, 0002 x126H*12& x30% = 13, 608
- CHsrA 40, 000R 44 123 x30% = 6, 336
OOtsSAIE 2=+ Y MI|tMEZ 22|
79, 200, 000& *30% = 23, 760
eI 22AX2 15,720 12, 860 2,860
308 AR HMSOIH 15,720 12, 860 2, 860
01 RXSMBIAEEZ 15, 720 12, 860 2, 860
oYl 249 XN 30, 000, 000 * 14 2= x50% = 15, 000
Ol 22X IS XA 720
- 540] 4 150, 000 *2F x 12 *20% = 720
Ot=s=4dl XI& 1,693, 125 1,542, 750 150, 375
308 AXIHMS0IH 1,693, 125 1,542, 750 150, 375
01 RXSMBIAESEZ 1,693,125 1,542, 750 150, 375
OO0ts=AHIXIA 1,693, 125
- BASA 3, 000& *3, 300H *3652 *25% = 903, 375
- getssa 3, 000& 11, 700H 90 x25% = 789, 750
s EEE5Y Ots=4H X2 3, 334, 500 3,277,500 57,000
308 AXIHMSO0IH 3, 334, 500 3,277,500 57,000
01 RXSMIAESEZ 3, 334, 500 3,277,500 57,000
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SN = H )

R =P
Gl OI=EA NS A (S Ml
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
Ogls EdE35Y Ots34Hl XNA
3, 000&*11, 700H 952 = 3, 334, 500
2EAHIIE & JIERIEES0ts XA 88, 536 75, 600 12,936
308 AXHMSOIH 88, 536 75, 600 12,936
01 RXSMBAEEZ 88, 536 75, 600 12, 936
OadAHIE K& 70, 0003 *80E * 12 *10% = 6, 720
ONE/EES0ts K& 70,0003 *974H«12F x10% = 81,816
Hed20ts X 280, 560 276, 996 3, 564
308 XX HMSOIA 280, 560 276, 996 3, 564
01 RXSMIAESEZ 280, 560 276, 996 3, 564
Odegl20ts K& 280, 560
0N 2l 80, 000& *500H *30% = 12,000
-5t =2t| 400, 000& #5009 *30% = 60, 000
-+=sh0{ & | 100, 000& *900H *30% = 27,000
—stul g 4| 200, 000& *900Z *30% = 54, 000
LES0ts AL 60, 0002 *900H *30% = 16, 200
G AHIE M4l 200, 0002 *50A| CH*30% = 3, 000
LIS
43, 0002 *700A| CH*12& *30% = 108, 360
Hed20ts HEsH 84, 000 42, 000 42,000
307 2I2tol A 84, 000 42,000 42,000
04 DIZFSHAIE X 84, 000 42,000 42,000
OOtSEYX BN ZHDS - 10,000
O0e20ts =81 23 = 50, 000
ORESO=s HEWLS AAl = 24,000
Oelolg&AL X 30, 000 30, 000 0
308 XAXHHMSOIA 30, 000 30, 000 0
01 AXEHMBAEEF 30, 000 30, 000 0
OHMB63l HElolY AKX 60, 000, 000& *50% = 30, 000
Helo] 2tHAGMAL =& 58, 000 50, 000 8, 000
307 2I2t0| & 58, 000 50, 000 8, 000
04 CIZFSHALE = 58, 000 50, 000 8, 000
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SN = H )

R =P
Gl OI=EA NS A (S Ml
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
O0elole =2t A = 45, 000
OF2Xt Ots SHEAL = 8, 000
Oy & IIZAE2dS A = 5, 000
d=0ts=XAIdE20Us =8 20, 000 10, 000 10, 000
307 2I2tol A 20, 000 10, 000 10, 000
04 CIZFSHALE = 20, 000 10, 000 10, 000
Od=z0ts=XAIE =03 &t = 10, 000
Oz ts=XAId SFU3 W=l = 10, 000
Ot==XgRFE a3l 10, 000 0 10, 000
202 048I 10, 000 0 10, 000
01 =LHMbI 10, 000 0 10, 000
O0ts=XgRFd = 10, 000
MWRes(SXE D) 24, 460, 000 23, 240, 000 1, 220, 000
LHEAHH K= 24, 460, 000 23, 240, 000 1, 220, 000
lz=0lIa SEEH &3 24, 460, 000 23, 240, 000 1, 220, 000
701 JIEIS HEES 24, 460, 000 23, 240, 000 1, 220, 000
01 JIEtgHEEZ 24, 460, 000 23, 240, 000 1, 220, 000
Ooz2280IISEENHN dE= = 24, 460, 000
MBI=X SEXH 5, 803, 246 4,054,816 1,748, 430
AMBIEX AHIA 4 5, 430, 600 3, 696, 350 1,734,250
SEAMs=EXEYe 29 130, 000 104, 000 26, 000
307 2I2t01 X 130, 000 104, 000 26, 000
02 QI2ZHBAMSE X 130, 000 104, 000 26, 000
OzHAB=NEE 2 - 130, 000
AM2IEXIC & A K& 20, 000 20, 000 0
307 22tol A 20, 000 20, 000 0
04 CIZFSHALE = 20, 000 20, 000 0
OAtsI=XIe & A XA = 20, 000
ME =X HERE T4 39, 000 39, 000 0
307 2I2tol A 39, 000 39, 000 0
02 gt AE=X 39, 000 39, 000 0
ONBIZN NEKH L DEH 23 - 39,000
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=X E
M ALS =X SEXA
[ AtBS X MUHIA StaL (e &3
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
KIS AFSI MUl A SAAIE F=R(AZH]) 5, 053, 000 3, 293, 350 1,759, 650
308 XAXHHMSOIA 5, 053, 000 3, 293, 350 1,759, 650
01 XXHMBAEXEFZ 5, 053, 000 3, 293, 350 1, 759, 650
OXSAZIAEIA SAA(BIRH AFY) = 5, 053, 000
(=2 5, 053, 000]
KAASI MBI A SAAYE =X(2ZH]) 64, 000 64, 000 0
308 AXHHMSOIH 64, 000 64, 000 0
01 AXNHHBAEEZ 64, 000 64, 000 0
OXNSANSABIA SEAAIRA(SHHI) = 64, 000
(= 64, 000]
SN e 84 40, 600 58, 000 A7, 400
203 Z R =&l 40, 600 58, 000 A17,400
03 AIMFXHRFLZIHI 40, 600 58, 000 A17,400
OEA, AN, 5K, SIHAAIMFH = 25,000
OSXSBAIMF = 12,000
O=sXEHFX = 3, 600
SXNEM =& FaZH| 25, 200 58, 800 A 33, 600
202 048I 25,200 58, 800 A 33, 600
01 =2LHbI 25,200 58, 800 A 33, 600
OsSXEHFA = 25, 200
SNEXHZO0F g4dst =& 58, 800 59, 200 A 400
201 LBt E| 58, 800 59, 200 A400
01 AtSR2teldl 58, 800 59, 200 A 400
OsXEX=z0F g4 =& = 58, 800
M2 =X Al &5 £ XA 372, 646 358, 466 14,180
MI=XNFEMH 29 47,250 47, 250 0
307 2I2tol A 47,250 47,250 0
02 gltAAE=xX 47,250 47,250 0
OMIEXNEEHHZ Y = 47, 250
= 11, 000]
(& 36, 250]
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|| gli::);f% 2 A (ol ®9)
S SR(B) - NRAY - B S Ol &+ Shitr BlRE2
KAld et 2AZ 40, 000 34, 000 6, 000
28 a3 40, 000 34, 000 6, 000
MBI EEH 0= 40, 000 34, 000 6, 000
OAM3IIZEXAIE HET A2 = 40, 000
AL S X2 OIEAE 22X MM 35, 496 27,216 8, 280
308 AXIHH SO0 35, 496 27,216 8,280
AXNSHHBAEES 35, 496 27,216 8,280
OSeAte|=XZ OISAIE280L MR = 35, 496
Al EX2 JIsE 249, 900 250, 000 A100
MRS R201H 249, 900 250, 000 A 100
PADNR=S DNR=SEN 249, 900 250, 000 A100

49, 000, 000& *17JH 2= +30% = 249, 900
2 X& 1,188,000 243, 000 945, 000
cl & X& 1,188, 000 243, 000 945, 000
o 28X 266, 000 154, 000 112, 000
QI2+oI A 266, 000 154, 000 112, 000
Ql2tFAEx 266, 000 0 266, 000
O=gR]3XA 2d=H X2 = 30, 000
OBt 2L X3 (7)) = 236, 000
H APRY JIsEZ 821, 000 21,000 800, 000
QIZtH=01d 821, 000 21,000 800, 000
QIZtX =2 X 821, 000 21,000 800, 000
OFtE =32 HE 600, 000, 000 *50% = 300, 000
O3. 12h2s =22 & JI838 x4 = 500, 000
OE=HH AIRA JIs=2d = 21,000
H &HX =d 54, 000 21,000 33, 000
gI2+oI 54, 000 21,000 33, 000
DIZHAALE £ 54, 000 21,000 33, 000
OUNZH EA HIEY =di = 30, 000
OZsHH 88X =d = 24, 000
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